

ERRATUM TO “MORE RESULTS ON HERMITE-HADAMARD TYPE INEQUALITIES THROUGH (α, m) -PREINVEXITY”

Muhammad Amer Latif

Abstract In this paper, we present some corrections to definitions of m -preinvex, (α, m) -preinvex functions and statements of the theorems of the results proved in [7].

Keywords Hermite-Hadamard’s inequality, invex set, preinvex function, m -preinvex function, (α, m) -preinvex function, Hölder’s integral inequality, power-mean inequality.

MSC(2010) 26D15, 26D20, 26D07.

1. Introduction

In a very recent article [7], Hussain and Qaisar have proved some Hermite-Hadamard type inequalities by using (α, m) -preinvexity, two already existing identities from literature and mathematical analysis. However, there are some vital errors in the statements of these results because of the deficiencies in the definition of (α, m) -preinvexity.

Here, we will give some corrections to the definition of (α, m) -preinvexity and then corrections to the statements of the results given in [7].

To this end, we first quote some necessary definitions from the literature.

It is well-know in literature that a function $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is convex in classical sense if

$$f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y)$$

holds for every $x, y \in I$ and $\lambda \in [0, 1]$.

The classical convexity stated above was generalized as m -convexity by G. Toader in [16] as follows:

Definition 1.1 ([16]). A function $f : [0, b^*] \rightarrow \mathbb{R}$, $b^* > 0$, is said to be m -convex, if

$$f(\lambda x + m(1 - \lambda)y) \leq \lambda f(x) + m(1 - \lambda)f(y)$$

for all $x, y \in [0, b^*]$, $\lambda \in [0, 1]$ and $m \in [0, 1]$. The function f is said to be m -concave if $-f$ is m -convex.

Obviously, for $m = 1$ the Definition 1.1 recaptures the concept of standard convex functions on $[0, b^*]$.

Email address: m_amer_latif@hotmail.com (M. A. Latif)
Department of Basic Sciences, Deanship of Preparatory Year University of
Hail, Kingdom of Saudi Arabia

The notion of m -convexity has been further generalized in [12] and it is stated in the following definition.

Definition 1.2 ([12]). A function $f : [0, b^*] \rightarrow \mathbb{R}$, $b^* > 0$ is said to be (α, m) -convex, if

$$f(\lambda x + m(1 - \lambda)y) \leq \lambda^\alpha f(x) + m(1 - \lambda^\alpha) f(y)$$

for all $x, y \in [0, b^*]$, $\lambda \in [0, 1]$ and $(\alpha, m) \in [0, 1]^2$.

It can easily be seen that for $\alpha = 1$, the class of m -convex functions are derived from the above definition and for $\alpha = m = 1$ a class of convex functions are derived.

Remark 1.1. It can be observed from 1.1 and 1.2 that the domain of m -convex and (α, m) -convex functions must be a subset of $[0, \infty)$ of the form $[0, b^*]$, $b^* > 0$.

A number of mathematicians have attempted to generalize the concept of classical convexity. For example in [8], Hason gave the notion of invexity as significant generalization of classical convexity. Ben-Israel and Mond [2] introduced the concept of preinvex functions, which is a special case of invex functions.

Let us first restate the definition of preinvexity as follows.

Definition 1.3 ([17]). Let K be a subset in \mathbb{R}^n and let $f : K \rightarrow \mathbb{R}$ and $\eta : K \times K \rightarrow \mathbb{R}^n$ be continuous functions. The set K is said to be invex at $x \in K$ with respect to $\eta(\cdot, \cdot)$, if

$$x + \lambda\eta(y, x) \in K, \forall x, y \in K, \lambda \in [0, 1].$$

The set K is said to be an invex set with respect to η if f is invex at each $x \in K$. The invex set K is also called an η -connected set.

Definition 1.4 ([17]). A function f on an invex set K is said to be preinvex with respect to η , if

$$f(x + \lambda\eta(y, x)) \leq (1 - \lambda)f(x) + \lambda f(y), \forall x, y \in K, \lambda \in [0, 1].$$

The function f is said to be preincave if and only if $-f$ is preinvex.

It is to be noted that every convex function is preinvex with respect to the map $\eta(y, x) = y - x$ but the converse is not true see for instance [17].

In [10], the author has given the generalizations of Definition 1.1 and Definition 1.2 as follows.

Definition 1.5 ([10]). Let $K \subseteq [0, b^*]$, $b^* > 0$ be an invex set with respect to $\eta : K \times K \rightarrow \mathbb{R}$. A function $f : K \rightarrow \mathbb{R}$ is said to be m -preinvex with respect to η on K if

$$f(x + \lambda\eta(y, x)) \leq (1 - \lambda)f(x) + m\lambda f\left(\frac{y}{m}\right)$$

holds for all $x, y \in K$, $\lambda \in [0, 1]$ and $m \in (0, 1]$. The function f is said to be m -preincave if and only if $-f$ is m -preinvex.

Definition 1.6 ([10]). Let $K \subseteq [0, b^*]$, $b^* > 0$ be an invex set with respect to $\eta : K \times K \rightarrow \mathbb{R}$. A function $f : K \rightarrow \mathbb{R}$ is said to be (α, m) -preinvex with respect to η on K if

$$f(x + \lambda\eta(y, x)) \leq (1 - \lambda^\alpha)f(x) + m\lambda^\alpha f\left(\frac{y}{m}\right)$$

holds for all $x, y \in K$, $\lambda \in [0, 1]$ and $(\alpha, m) \in (0, 1] \times (0, 1]$. The function f is said to be (α, m) -preincave if and only if $-f$ is (α, m) -preinvex.

Remark 1.2. The Definition 1.5 and Definition 1.6 have some weaknesses. Since $K \subseteq [0, b^*]$, $b^* > 0$, the set K may not contain 0 (for an m -preinvex and (α, m) -preinvex functions the domain must be an interval of the form $[0, b^*]$, $b^* > 0$) and if $0 < m < 1$, the point $\frac{y}{m}$ may not belong to the set K and hence the right hand sides of Definition 1.5 and Definition 1.6 are meaningless.

In [7], Hussain and Qaisar claimed that the following definition of (α, m) -preinvex was given in [2].

Definition 1.7. Let $K \subseteq \mathbb{R}$ be an invex set with respect to $\eta : K \times K \rightarrow \mathbb{R}^n$. A function $f : K \rightarrow \mathbb{R}$ is said to be (α, m) -preinvex with respect to η , if for all $x, y \in K$, $\lambda \in [0, 1]$ and $(\alpha, m) \in (0, 1] \times (0, 1]$

$$f(x + \lambda\eta(y, x)) \leq (1 - \lambda^\alpha) f(x) + m\lambda^\alpha f\left(\frac{y}{m}\right).$$

The function f is said to be (α, m) -preconcave if and only if $-f$ is (α, m) -preinvex.

Remark 1.3. Indeed, Definition 1.7 has never been given in [2]. Moreover, in this definition $\eta : K \times K \rightarrow \mathbb{R}^n$ has to be $\eta : K \times K \rightarrow \mathbb{R}$ and the domain of the function f cannot be a subset of the set of real numbers. Suppose if $K = [-1, 1] \subseteq \mathbb{R}$, $m = \frac{1}{2}$, $y = 1$, then $\frac{y}{m} = 2 \notin [-1, 1]$ and hence the right hand side in Definition 1.7 is meaningless.

Hussain and Qaisar [7] have also claimed that the following lemmas will be used to prove their results.

Lemma 1.1. Let $K \subseteq \mathbb{R}$ be an open invex subset with respect to $\eta : K \times K \rightarrow \mathbb{R}^+$. Suppose $f : K \rightarrow \mathbb{R}$ is a function such that $f^{(n)}$ exists on K for $n \in \mathbb{N}$, $n \geq 1$ and $f^{(n)}$. If $f^{(n)}$ is integrable on $[a, a + \eta(b, a)]$, then for every $a, b \in K$ with $\eta(b, a) > 0$, the following inequality holds:

$$\begin{aligned} & -\frac{f(a) + f(a + \eta(b, a))}{2} + \frac{1}{\eta(b, a)} \int_a^{a + \eta(b, a)} f(x) dx \\ & + \sum_{k=2}^{n-1} \frac{(-1)^k (k-1) (\eta(b, a))^k}{2(k+1)!} f^{(k)}(a + \eta(b, a)) \\ & = \frac{(-1)^{n-1} (\eta(b, a))^n}{2n!} \int_0^1 \lambda^{n-1} (n-2\lambda) f^{(n)}(a + \lambda\eta(b, a)) d\lambda. \end{aligned} \quad (1.1)$$

Lemma 1.2. Let $K \subseteq \mathbb{R}$ be an open invex subset with respect to $\eta : K \times K \rightarrow \mathbb{R}^+$. Suppose $f : K \rightarrow \mathbb{R}$ is a function such that $f^{(n)}$ exists on K for $n \in \mathbb{N}$, $n \geq 1$ and $f^{(n)}$. If $f^{(n)}$ is integrable on $[a, a + \eta(b, a)]$, then for every $a, b \in K$ with $\eta(b, a) > 0$, the following inequality holds:

$$\begin{aligned} & \sum_{k=0}^{n-1} \frac{[(-1)^k + 1] (\eta(b, a))^k}{2^{k+1} (k+1)!} f^{(k)}\left(a + \frac{1}{2}\eta(b, a)\right) - \frac{1}{\eta(b, a)} \int_a^{a + \eta(b, a)} f(x) dx \\ & = \frac{(-1)^{n+1} (\eta(b, a))^n}{n!} \int_0^1 P_n(\lambda) f^{(n)}(a + \lambda\eta(b, a)) d\lambda, \end{aligned} \quad (1.2)$$

where

$$P_n(\lambda) = \begin{cases} \lambda^n, & \lambda \in [0, \frac{1}{2}], \\ (\lambda - 1)^n, & \lambda \in [\frac{1}{2}, 1]. \end{cases}$$

These two lemmas have not been cited and the function η has not been defined correctly as well. The range of the function η must be the set of real numbers instead of the set of positive real numbers. In fact, these two lemmas were proved by the author in [10]. In Lemma 1.1 and Lemma 1.2, (1.1) and (1.2) are equalities but not the inequalities.

The main aim of this erratum is to provide corrections to the definitions of m -preinvex and (α, m) -preinvex and hence the corrections to the statements of the theorems given in [7].

2. Corrections

In this section we give corrections to the definitions of m -preinvex and (α, m) -preinvex functions and then corrections to the statements of theorems proved in [7].

Definition 2.1. Let $\mathbb{R}_0 = [0, +\infty)$ be an invex set with respect to $\eta : \mathbb{R}_0 \times \mathbb{R}_0 \rightarrow \mathbb{R}_0$. A function $f : \mathbb{R}_0 \rightarrow \mathbb{R}$ is said to be m -preinvex on $\left[0, \frac{y^*}{m}\right] \subseteq \mathbb{R}_0$ with respect to η if

$$f(x + \lambda\eta(y, x)) \leq (1 - \lambda)f(x) + m\lambda f\left(\frac{y}{m}\right)$$

holds for all $x, y \in [0, y^*]$, $\lambda \in [0, 1]$ and $m \in (0, 1]$. The function f is said to be m -preconcave if and only if $-f$ is m -preinvex.

Definition 2.2. Let $\mathbb{R}_0 = [0, +\infty)$ be an invex set with respect to $\eta : \mathbb{R}_0 \times \mathbb{R}_0 \rightarrow \mathbb{R}_0$. A function $f : \mathbb{R}_0 \rightarrow \mathbb{R}$ is said to be (α, m) -preinvex on $\left[0, \frac{y^*}{m}\right]$ with respect to η if

$$f(x + \lambda\eta(y, x)) \leq (1 - \lambda^\alpha)f(x) + m\lambda^\alpha f\left(\frac{y}{m}\right)$$

holds for all $x, y \in [0, y^*]$, $\lambda \in [0, 1]$ and $(\alpha, m) \in (0, 1]^2$. The function f is said to be (α, m) -preconcave if and only if $-f$ is (α, m) -preinvex.

Remark 2.1. If in Definition 2.1, $m = 1$, then one obtain the usual definition of preinvexity. If $\alpha = m = 1$, then Definition 2.2 recaptures the usual definition of the the preinvex functions. It is to be noted that every m -preinvex function and (α, m) -preinvex functions are m -convex and (α, m) -convex with respect to $\eta(y, x) = y - x$ respectively.

The following example illustrates that m -preinvex functions are different from m -convex functions.

Example 2.1. Let the mapping $f : \mathbb{R}_0 \rightarrow \mathbb{R}$ be defined as

$$f(x) = -x^2.$$

Let the function $\eta : \mathbb{R}_0 \times \mathbb{R}_0 \rightarrow \mathbb{R}_0$ be defined as

$$\eta(v, u) = \frac{v}{\sqrt{\lambda m}} + u, 0 < m, \lambda \leq 1.$$

Then

$$\begin{aligned} f(x + \lambda\eta(y, x)) &= - \left((1 + \lambda)x + y\sqrt{\frac{\lambda}{m}} \right)^2 \\ &= - (1 + \lambda)^2 x^2 - \frac{\lambda}{m} y^2 - 2(1 + \lambda) \sqrt{\frac{\lambda}{m}} xy \\ &= \phi_{\lambda, m}(x, y) \end{aligned}$$

and

$$(1 - \lambda)f(x) + m\lambda f\left(\frac{y}{m}\right) = - (1 - \lambda)x^2 - \frac{\lambda}{m} y^2 = \varphi_{\lambda, m}(x, y).$$

It is obvious that

$$\phi_{\lambda, m}(x, y) \leq \varphi_{\lambda, m}(x, y)$$

for $x, y \in \mathbb{R}_0$, $\lambda \in [0, 1]$ and $m \in (0, 1]$. Hence the function f is an m -preinvex with respect to η on \mathbb{R}_0 for every $m \in (0, 1]$. However, the same function is not an m -convex for any $m \in (0, 1]$. For instance, let $x = 1$, $y = 3$, $\lambda = \frac{1}{2}$ and $m = \frac{3}{4}$. Then

$$f(\lambda x + (1 - \lambda)y) = -4$$

and

$$\lambda f(x) + m(1 - \lambda)f\left(\frac{y}{m}\right) = -6.5.$$

That is

$$f(\lambda x + (1 - \lambda)y) > \lambda f(x) + m(1 - \lambda)f\left(\frac{y}{m}\right).$$

Remark 2.2. A similar example can be constructed to show that (α, m) -preinvex functions are different from (α, m) -convex functions.

Correction to the statement of Theorem 2.1 from [7]

Let $K \subseteq \mathbb{R}$ be an open invex subset with respect to $\eta : K \times K \rightarrow \mathbb{R}$ and $\mathbb{R}_0 \subseteq K$. Suppose that $f : K \rightarrow \mathbb{R}$ is a function such that $f^{(n)}$ exists on K and $f^{(n)}$ is integrable on $[a, a + \eta(b, a)]$ for $n \in \mathbb{N}$, $n \geq 2$, $a, b \in K$, $0 \leq a < b < \infty$ with $\eta(b, a) > 0$. If $|f^{(n)}|$ is (α, m) -preinvex on $[0, \frac{b}{m}]$, the following inequality holds:

$$\begin{aligned} & \left| \frac{f(a) + f(a + \eta(b, a))}{2} - \frac{1}{\eta(b, a)} \int_a^{a + \eta(b, a)} f(x) dx \right. \\ & \quad \left. - \sum_{k=2}^{n-1} \frac{(-1)^k (k-1) (\eta(b, a))^k}{2(k+1)!} f^{(k)}(a + \eta(b, a)) \right| \\ & \leq \frac{(\eta(b, a))^n}{2n!} \left[U_2 |f^{(n)}(a)| + U_1 m \left| f^{(n)}\left(\frac{b}{m}\right) \right| \right], \end{aligned} \quad (2.1)$$

where

$$U_1 = \frac{n(n-1) + \alpha(n-2)}{(n+\alpha)(n+\alpha+1)} \text{ and } U_2 = \frac{n\alpha(n+\alpha) - \alpha(\alpha+1)}{(n+1)(n+\alpha)(n+\alpha+1)}.$$

Correction to the statement of Corollary 2.1 from [7]

If $n = 2$, in Theorem 2.1, the following inequality holds:

$$\left| \frac{f(a) + f(a + \eta(b, a))}{2} - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx \right| \leq \frac{(\eta(b, a))^2}{4} \left[\frac{\alpha}{3(\alpha + 2)} |f''(a)| + \frac{2m}{(\alpha + 2)(\alpha + 3)} \left| f''\left(\frac{b}{m}\right) \right| \right], \quad (2.2)$$

Correction to the statement of Theorem 2.2 from [7]

Let $K \subseteq \mathbb{R}$ be an open invex subset with respect to $\eta : K \times K \rightarrow \mathbb{R}$ and $\mathbb{R}_0 \subseteq K$. Suppose that $f : K \rightarrow \mathbb{R}$ is a function such that $f^{(n)}$ exists on K and $f^{(n)}$ is integrable on $[a, a + \eta(b, a)]$ for $n \in \mathbb{N}$, $n \geq 2$, $a, b \in K$, $0 \leq a < b < \infty$ with $\eta(b, a) > 0$. If $|f^{(n)}|^q$, for $q \geq 1$ is (α, m) -preinvex on $[0, \frac{b}{m}]$, the following inequality holds:

$$\left| \frac{f(a) + f(a + \eta(b, a))}{2} - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx - \sum_{k=2}^{n-1} \frac{(-1)^k (k-1) (\eta(b, a))^k}{2(k+1)!} f^{(k)}(a + \eta(b, a)) \right| \leq \frac{(\eta(b, a))^n}{2n!} (n-1)^{1-\frac{1}{q}} \left\{ U_3 |f^{(n)}(a)|^q + mU_4 \left| f^{(n)}\left(\frac{b}{m}\right) \right|^q \right\}^{\frac{1}{q}}, \quad (2.3)$$

where

$$U_3 = \frac{n}{nq - q + 1} - \frac{2}{nq - q + 2} - U_4 \text{ and } U_4 = \frac{2}{1 + nq - q + \alpha} - \frac{2}{2 + nq - q + \alpha}.$$

Correction to the statement of Corollary 2.2 from [7]

If $n = 2$ in Theorem 2.2, we have

$$\left| \frac{f(a) + f(a + \eta(b, a))}{2} - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx \right| \leq \frac{(\eta(b, a))^2}{4} \left\{ U_3 |f''(a)|^q + mU_4 \left| f''\left(\frac{b}{m}\right) \right|^q \right\}^{\frac{1}{q}}, \quad (2.4)$$

where

$$U_3 = \frac{2}{q + 1} - \frac{2}{q + 2} - U_4 \text{ and } U_4 = \frac{2}{1 + q + \alpha} - \frac{2}{2 + q + \alpha}.$$

Correction to the statement of Corollary 2.3 from [7]

If we take $q = 1$, $\alpha = 1$ and $m = 1$ in Corollary 2.2 we get,

$$\left| \frac{f(a) + f(a + \eta(b, a))}{2} - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx \right| \leq \frac{(\eta(b, a))^2}{24} \left\{ |f''(a)| + |f''(b)| \right\}. \quad (2.5)$$

Correction to the statement of Theorem 2.3 from [7]

Let $K \subseteq \mathbb{R}$ be an open invex subset with respect to $\eta : K \times K \rightarrow \mathbb{R}$ and $\mathbb{R}_0 \subseteq K$. Suppose that $f : K \rightarrow \mathbb{R}$ is a function such that $f^{(n)}$ exists on K and $f^{(n)}$ is integrable on $[a, a + \eta(b, a)]$ for $n \in \mathbb{N}$, $n \geq 1$, $a, b \in K$, $0 \leq a < b < \infty$ with $\eta(b, a) > 0$. If $|f^{(n)}|^q$, for $q > 1$ is (α, m) -preinvex on $[0, \frac{b}{m}]$, the following inequality holds

$$\left| \sum_{k=0}^{n-1} \frac{[(-1)^k + 1] (\eta(b, a))^k}{2^{k+1} (k+1)!} f^{(k)} \left(a + \frac{1}{2} \eta(b, a) \right) - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx \right| \leq \frac{(\eta(b, a))^n}{2^n n! (np+1)^{\frac{1}{p}}} \left[\frac{\alpha |f^{(n)}(a)|^q + m |f^{(n)}(\frac{b}{m})|^q}{\alpha+1} \right]^{\frac{1}{q}}, \quad (2.6)$$

where $\frac{1}{p} + \frac{1}{q} = 1$.

Correction to the statement of Corollary 2.4 from [7]

If $n = 2$, $\alpha = 1$ and $m = 1$, in Theorem 2.3, then we have the following inequality:

$$\left| f \left(a + \frac{1}{2} \eta(b, a) \right) - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx \right| \leq \frac{(\eta(b, a))^2}{8(2p+1)^{\frac{1}{p}}} \left[\frac{|f''(a)|^q + |f''(b)|^q}{2} \right]^{\frac{1}{q}}, \quad (2.7)$$

where $\frac{1}{p} + \frac{1}{q} = 1$.

Correction to the statement of Theorem 2.4 from [7]

Let $K \subseteq \mathbb{R}$ be an open invex subset with respect to $\eta : K \times K \rightarrow \mathbb{R}$ and $\mathbb{R}_0 \subseteq K$. Suppose that $f : K \rightarrow \mathbb{R}$ is a function such that $f^{(n)}$ exists on K and $f^{(n)}$ is integrable on $[a, a + \eta(b, a)]$ for $n \in \mathbb{N}$, $n \geq 1$, $a, b \in K$, $0 \leq a < b < \infty$ with $\eta(b, a) > 0$. If $|f^{(n)}|^q$, for $q > 1$ is (α, m) -preinvex on $[0, \frac{b}{m}]$, the following inequality holds

$$\left| \sum_{k=0}^{n-1} \frac{[(-1)^k + 1] (\eta(b, a))^k}{2^{k+1} (k+1)!} f^{(k)} \left(a + \frac{1}{2} \eta(b, a) \right) - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx \right| \leq \frac{(\eta(b, a))^n}{2^{n+\frac{1}{p}} n! (np+1)^{\frac{1}{p}}} \left[\left(V_1 |f^{(n)}(a)|^q + m V_2 \left| f^{(n)} \left(\frac{b}{m} \right) \right|^q \right)^{\frac{1}{q}} + \left(V_3 |f^{(n)}(a)|^q + m V_4 \left| f^{(n)} \left(\frac{b}{m} \right) \right|^q \right)^{\frac{1}{q}} \right], \quad (2.8)$$

where

$$V_1 = \frac{2^\alpha (\alpha+1) - 1}{2^{\alpha+1} (\alpha+1)}, \quad V_2 = \frac{1}{2^{\alpha+1} (\alpha+1)},$$

$$V_3 = \frac{\alpha \cdot 2^\alpha - 2^\alpha (\alpha+1) + 1}{2^{\alpha+1} (\alpha+1)}, \quad V_4 = \frac{2^{\alpha+1} - 1}{2^{\alpha+1} (\alpha+1)}$$

and $\frac{1}{p} + \frac{1}{q} = 1$.

Correction to the statement of Corollary 2.5 from [7]

If $\alpha = 1, m = 1$ and $n = 2$ in Theorem 2.4, then we have the following inequality:

$$\left| f\left(a + \frac{1}{2}\eta(b, a)\right) - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx \right| \leq \frac{(\eta(b, a))^2}{2^{3+\frac{1}{p}}(2p+1)^{\frac{1}{p}}} \left[\left(\frac{3}{8} |f''(a)|^q + \frac{1}{8} |f''(b)|^q\right)^{\frac{1}{q}} + \left(\frac{1}{8} |f''(a)|^q + \frac{3}{8} |f''(b)|^q\right)^{\frac{1}{q}} \right], \tag{2.9}$$

where $\frac{1}{p} + \frac{1}{q} = 1$.

Correction to the statement of Theorem 2.5 from [7]

Let $K \subseteq \mathbb{R}$ be an open invex subset with respect to $\eta : K \times K \rightarrow \mathbb{R}$ and $\mathbb{R}_0 \subseteq K$. Suppose that $f : K \rightarrow \mathbb{R}$ is a function such that $f^{(n)}$ exists on K and $f^{(n)}$ is integrable on $[a, a + \eta(b, a)]$ for $n \in \mathbb{N}, n \geq 1, a, b \in K, 0 \leq a < b < \infty$ with $\eta(b, a) > 0$. If $|f^{(n)}|^q$, for $q \geq 1$ is (α, m) -preinvex on $[0, \frac{b}{m}]$, the following inequality holds

$$\left| \sum_{k=0}^{n-1} \frac{(-1)^k + 1}{2^{k+1}(k+1)!} (\eta(b, a))^k f^{(k)}\left(a + \frac{1}{2}\eta(b, a)\right) - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx \right| \leq \frac{(\eta(b, a))^n}{n!} \left(\frac{1}{2^{n+1}(n+1)}\right)^{1-\frac{1}{q}} \left[\left(D |f^{(n)}(a)|^q + mE \left|f^{(n)}\left(\frac{b}{m}\right)\right|^q\right)^{\frac{1}{q}} + \left(F |f^{(n)}(a)|^q + mG \left|f^{(n)}\left(\frac{b}{m}\right)\right|^q\right)^{\frac{1}{q}} \right], \tag{2.10}$$

where

$$D = \frac{1}{2^{n+1}(n+1)} - E, E = \frac{1}{(n+\alpha+1)2^{n+\alpha+1}},$$

$$F = \frac{1}{2^{n+1}(n+1)} - G, G = B\left(\frac{1}{2}; n+1, \alpha+1\right)$$

and $B(z; x, y) = \int_0^z t^{x-1} (1-t)^{1-y} dt, 0 \leq z \leq 1$ for $x, y > 0$ is the incomplete Beta function.

Correction to the statement of Corollary 2.6 from [7]

If $\alpha = 1, m = 1$ and $n = 2$ in Theorem 2.5, then we have the following inequality:

$$\left| f\left(a + \frac{1}{2}\eta(b, a)\right) - \frac{1}{\eta(b, a)} \int_a^{a+\eta(b, a)} f(x) dx \right| \leq \frac{(\eta(b, a))^2}{2} \left(\frac{1}{24}\right)^{1-\frac{1}{q}} \left[\left(\frac{5}{192} |f''(a)|^q + \frac{1}{64} \left|f''\left(\frac{b}{m}\right)\right|^q\right)^{\frac{1}{q}} + \left(\frac{1}{64} |f''(a)|^q + \frac{5}{192} \left|f''\left(\frac{b}{m}\right)\right|^q\right)^{\frac{1}{q}} \right]. \tag{2.11}$$

Remark 2.3. There are number of typos in the proofs of the theorems given in [7] as well.

Acknowledgements

The author is indebted to the anonymous reviewer for his/her very constructive comments which have been included in the final version of the manuscript.

References

- [1] A. Barani, A. G. Ghazanfari and S. S. Dragomir, *Hermite-Hadamard inequality for functions whose derivatives absolute values are preinvex*, Journal of Inequalities and Applications, 2012, 2012(1):247.
- [2] A. Ben-Israel and B. Mond, *What is invexity?*, J. Austral. Math. Soc., Ser. B, 1986, 28(1), 1–9.
- [3] M. K. Bakula, M. E. Özdemir and J. Pečarić, *Hadamard type inequalities for m -convex and (α, m) -convex functions*, J. Inequal. Pure Appl. Math. 2008, 9, no. 4, Art. 96, 12 pages.
- [4] S. S. Dragomir and R. P. Agarwal, *Two inequalities for differentiable mappings and applications to special means of real numbers and trapezoidal formula*, Appl. Math. Lett., 1998, 11(5), 91–95.
- [5] S. S. Dragomir, *On some new inequalities of Hermite-Hadamard type for m -convex functions*, Tamkang J. Math., 2002, 33, 45–55.
- [6] S. S. Dragomir and G. Toader, *Some inequalities for m -convex functions*, Studia Univ. Babeş-Bolyai Math., 1993, 38, 21–28.
- [7] S. Hussain and S. Qaisar, *More Results on Hermite-Hadamard type inequality through (α, m) -preinvexity*, Journal of Applied Analysis and Computation, 2016, 6(2), 293–305.
- [8] M. A. Hanson, *On sufficiency of the Kuhn-Tucker conditions*, J. Math. Anal. Appl., 1981, 80, 545–550.
- [9] M. A. Latif, *On Hermite-Hadamard type integral inequalities for n -times d -differentiable preinvex functions with applications*, Studia Univ. Babeş-Bolyai Math., 2013, 58(3), 325–343.
- [10] M. A. Latif and M. Shoaib, *Hermite-Hadamard type integral inequalities for d -differentiable m -preinvex and (α, m) -preinvex functions*, Journal of the Egyptian Mathematical Society, 2015, 23(2), 236–241.
- [11] S. R. Mohan and S. K. Neogy, *On invex sets and preinvex functions*, J. Math. Anal. Appl., 1995, 189, 901–908.
- [12] V. G. Mihesan, *A generalization of the convexity*, Seminar on Functional Equations, Approx. Convex, Cluj-Napoca, 1993. (Romania)
- [13] M. E. Özdemir, M. Avci and E. Set, *On some inequalities of Hermite-Hadamard type via m -convexity*, Appl. Math. Lett., 2010, 23(9), 1065–1070.
- [14] M. E. Özdemir, M. Avci and H. Kavurmacı, *Hermite-Hadamard-type inequalities via (α, m) -convexity*, Comput. Math. Appl., 2011, 61, 2614–2620.
- [15] R. Pini, *Invexity and generalized convexity*, Optimization, 1991, 22, 513–525.
- [16] G. Toader, *Some generalizations of the convexity*, Proceedings of the Colloquium on Approximation and Optimization, Univ. Cluj-Napoca, Cluj-Napoca, 1985, 329–338.

-
- [17] T. Weir, and B. Mond, *Preinvex functions in multiple bjective optimization*, Journal of Mathematical Analysis and Applications. 136 (1998) 29-38.
 - [18] X. M. Yang and D. Li, *On properties of preinvex functions*, J. Math. Anal. Appl., 2001, 256, 229–241.
 - [19] X. M. Yang, X. Q. Yang and K. L. Teo, *Characterizations and applications of prequasiinvex functions*, properties of preinvex functions, J. Optim. Theo. Appl., 2001, 110(3), 645–668.
 - [20] X. M. Yang, X. Q. Yang, K. L. Teo, *Generalized invexity and generalized invariant monotonicity*, Journal of Optimization Theory and Applications, 2003, 117(3), 607–625.